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lll Semester B.Com. Examination, November/December 2013
(Semester Scheme)
(New Syllabus) (2013-14 & Onwards)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 100

Instruction: Answer should be written completely either in English or
Kannada.

SECTION-A

Answerany 10 sub-questions, from the following, each sub-question carries 2 marks.
(10x2=20)
1. a) Enumerate the Objectives of Financial Management.

b) Name the two approaches of Financial Management.

c) Whatis an Annuity ?

d) Name the two models used for valuing Equity Shares.

e) Given FL = 2, Fixed Interest Charges = Rs. 1,00,000 find out EBIT.
)

f) A Project cost Rs. 2,50,000 and yields an annual profit of Rs. 40,000
aftergdepreciation at 12% pa, but before tax at 50%. Calculate the PBP.

g) A Chmpany is expected to pay a dividend of Rs. 2 per equity share. The
dividends are expected to grow perpetually at a growth rate of 10%. Find out
the share price today, if the market capitalizes dividend at 30%.

h) What are the sources of Working Capital ?
i) List any two repercussions when a firm has excess working capital.

j) Initial investment of Rs. 20,00,000, Scrap Value Rs. 4,00,000, working life is
5 years, additional working capital Rs. 2,00,000. Calculate Average Investment.

k) What is meant by ‘Stock Dividend’ ?
1) What do you mean by rights issue ?
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SECTION-B
Answer any 4 questions of the following. Each question carries 8 marks. (4x8=32)

2. A Company proposes to issue 10 year Debentures of Rs. 10,000 (Rs. 100 per
value). The Company would return Rs. 1,000 at the end of every year and will
pay interest annually at 10% on the outstanding amount. Determine the present
value of the debenture issue if capitalization rate is 20%. The Present value
factors at 20% are given below :

Year 1 2 3 4 5 6 7 8 9 10
PVF@20% | 0.833 | 0.694 | 0.579 | 0.482 | 0.402 | 0.335 | 0.279 | 0.233 | 0.194 | 0.162

3. The financial data of Madhumita Industries for the year ended 315t Dec. 2013 is
as follows;

Variable Expenses as a percentage of Sales = 75%
Interest Expenses = Rs. 300

DOL = 6-1

DFL =4-1

Income Tax Rate —50%

Prepare an Income Statement.
4. Briefly explain the various forms of dividend.
5. What are the factors which determine the working capital needs of a Company ?

6. Calculate OL and FL from the following.
Sales — Rs. 1,00,000 at Rs. 5 per unit.
Variable Cost — Re. 1 per unit
Fixed Cost—Rs. 1,00,000

Interest Expenditure — Rs. 20,000.
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SECTION-C

Answerany 3 of the following questions. Each question carries 16 marks. (3x16=48)

7. What are the steps in Financial Planning ? Explain clearly the basic consideration
in formulating a Financial Plan.

8. A Company is considering purchasing a Machine. Two alternative Machines are
available Machine-X and Y and each costing Rs. 50,000. Earnings after taxation
are expected to be as follows.

Estimated Net Cash flows
Year
Machine-X (Rs.) Machine-Y (Rs.)
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000

Evaluate the two alternatives according to;
a) PBP b) ROI c) NPV @10%. Assume SLM of depreciation.
The discount factor is as under;

Year 1 2 3 4 5

DF @10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.621

9. Firms X and Y identical are except that the firm X is not levered while firm Y is
levered.

The following data relate them :

Particulars Firm-X (Rs.) Firm-Y (Rs.)
Assets 5,00,000 5,00,000
Debt Capital 0 2,50,000 (9% Interest)
Equity Share Capital 5,00,000 2,50,000
Number of Shares 50,000 25,000
Rate of return on assets 20% 20%

Calculate EPS for both the firms, assuming tax rate of 50%. Will it be advantageous
to firm Y to raise the level of debt to 75% ?
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10. The Capital Structure of the Progressive Corporation Ltd. Consist of an Equity
Share capital of Rs. 10,00,000 (shares of Rs. 10 par value) and Rs. 10,00,000 of
20% Debentures. Sales increased by 25% from 2,00,000 units to 2,50,000, the
selling price is Rs. 10 per unit, variable cost amount to Rs. 6 per unit and fixed
expenses amount to Rs. 2,50,000. Income tax rate is assumed to be 50%.

You are required to calculate the following :
i) The percentage increase in EPS
i) The DFL at 200000 units and 250000 units.

iii) The DOL at 200000 units and 250000 units.

sgmmmw

AR VIO B0 Lo 50/ 58 730 QONLTTTE) L)0VLIeE

QPN - N
000T3 E10e$00 03RPTE3R 10 wﬁ@%ﬁ@ﬁ SUB0R. B e emw@%ﬁ 2 903N, (10x2=20)

1. &) TeaBRRd AEIF BESOI LVTIEBNTS) BAOR.
¥) TERTRRD QI THESOR DT IR ARUWNTSI BROR.
2) [T Q0TTE ?
Q) AOBRT, FeOIMNE BIPQTITD BB TR BRTONTS, TIOR.
Q) BTN TeoweRd OeSBeeE = 2, W& %dﬁzszdﬁ@a = 3n. 1,00,000, & =023 Sont
TOBIN0E B0 SORI[EBIT] 80t82880200.

QF°) 20030 03RexI12,50,000 TRTHOWNS ﬁ?,imr{@da@ , B3 03RCWIO0T AeBY TOBTT,
ST SO PR AT ©I00340,000 TR. N WITLTITIOW Q0BT TOMOTT
2OTIVY &0STIN wda@d@ @x% 9330 ¢3e8> 9

23)  2,0030 BOTACTN T3¢ ReOn TR, 2 TYTo0d BRTLD £2000eiATs. 3e. 103 ¥R Gom),
TYIROTF) VTOSTN LWFaDWTOToL V0BT, Je. 30T OB, mmoédﬁg{
BRTIBEOD, WOBETPETORTIT, V00T HeDd LISCITI TOBIRUD.



L] 5 SN - 668

Te3F) 20 WOV BN ?

%) 20T FOFOID WP HT WY WOBTT TRODWIN ma;&maf NOTEO TS8RO
BTN T WRA.

2d) ST0RB WoB=Y TR. 20,00,000, 23RTH ¢33 TR, 4,00,000, w093 SR NsD-5, ézé%db
sl WOBIY BR. 2,00,000. TR0 ara@%odad;% BOTO&EC0.

3) ToRYRD URLI03 OUOTT B EEed ?

D) TYS Redd Ve 0TI ?

PN -W
00T BRE300N 5 TINGY_ cInP)TTT R4 TINYR SUZ0R. B3¢ g 118 wosneh.  (4x8=32)
ed % ™ £ -0

2. 2,00 30w 100 Tre. 22D B3foxd> TR, 10,000 BRYT 10 SRFNAY WOTZNERD
QT QURTI. B3 —aedér{@ﬁd& Tée w@F . 1,000 doé VTR BRTED ?Ddran)d
ﬁfacé?jea)d WO ees w@éé 10 T3 w@&ﬁads BRBWWOINRG. LOBPCTTLD WO
3e3 20 23T, A AMOTZTI TR Y 553{ éocéooo@oibé

368w 20% 008 TR dﬁe% 20353 SBeNT3.

SR 1 2 3 4 5 6 7 8 9 10
3. =%, @20% | 0.833 | 0.694 | 0.579 | 0.482 | 0.402 | 0.335 | 0.279 | 0.233 | 0.194 | 0.162

3. WL YVRFOCD TEaTIRD TE0TY) 31e @RowTr 2013 S 0gE 83 N0
WHERNOD mgj = BRI 3@ 75
w@@oﬁo ﬁz&; = 3r. 300
TN 30m Qw3 =6-1
TEITRT DnTees® = 4-1
303903 30 &0 = e. 50
83 30O QLTONLROOT STOD TeIEHR TOIROR.

4. NT WD eramoéﬁ'#:% ﬁo%w@’mﬁ DROR.



SN - 668 & L]

5. 20030 TOTIOTD 230 WOBTIVE eawésémfs& QORI 203N 03RR)R) ?

6. B33INT LWONPOT TSR IV AW 2B BETAD DT FOTOEBOND.
IR0 1 T[&C a’&é&éﬁﬁ 0. 5 Jog Tw. 1,00,000
LTSRN 3525, - Tae pe38g, 1 . S0
%épdﬁzi— on. 1,00,000
WREL 52‘3’3— Tr. 20,000.

NN -

33 39 QBRNDLT 4 BIMYEY, CIRDTREAR 3 BIRYH ©uZoR. 8 BIE 16 osnwd.
(3)(1 6:48)

7. TEATORY CIRCRTONG QTIT TOBNYIR)) ? BEITIRD oﬁmzﬁoﬁaﬁoq SRLATON
TONEITLICTOT WARLLRT @oﬁf%‘;g{ ORI TN DO

8. ©BOTIO3N 2030 BRR ojaogﬁdgi DOCRD oiraea&zbgd. 50,000 TRzo020 2333080
X daé_g Y 00 QT 0300ZNEd wicielevebt o SRR a’@ﬁoﬁaﬁg{ B3P J03T WTOD
E3T39030 B8 DS BT L20TI03T3.

QTY SN L300F
SR =
X(35.) Y(25)
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000

3 wojfarojaﬁ%fdl 3SR SPATORI 0680, d@d’%eé@%;

) OTRTRE WRQ VGRS W) BEFO TO QT 2) RE TAT 39°9), W5 (e. 10
WOBINST ﬁzéz) RRBIN ST @mddﬁg{ TOOR.



L] 7- SN - 668

FRCBTT B3 OCSOINNTS ;

TR 1 2 3 4 5
. w30, @10% 0909 | 0.826 | 0.751 | 0.683 | 0.621

9. Xa3x=Y NONT@J 2,053¢ @&%Oﬁi@ﬁdd@ X NONOCiDO O=nJes® @@ﬁ@w@d NONOjJDﬂCg

-0

Y 308030 @déezsf TROTOR A oﬂodfaﬁd = %@%oc% QWONLD SYNST Nowodwwmﬂd

@

ACNST S X (e».) Y (2%.)
ST 5,00,000 5,00,000
T WOTBTOS 0 2,50,000 (9% Interest)
AT, et WO 5,00,000 2,50,000
Reaone B0, 50,000 25,000
SBANG TEFO T 20% 20%

30on 0w 3e3@ 50 de?gbdoﬁoda TONEI DT ﬁofémf T Reos @moﬁad& [EPS]
Fow S&BOO. a’zi TOOT WOBTTT a’o@g&aﬁa’& Je. 75 OR é ézsﬂ)zs@ Y TORT
EIOBRVTINIRYTIC PR,

10. e EresiprBema® QODNTE LoRHDY TeIFO30 B00T HevH08 BT, RRT,
TeTd 0@ (TR, 10 =0 w3e) Sre. 10,00,000, 20% mpeeEgnsh Sr. 10,00,000.
S0 BETE 250, TR, ©owS 2,00,000 BesBPos 2,50,000 Fessrer w5,
R00ts B0 B¢ Pwg S, 10, WHRE 308, e 4388 T 6, 18 53, dre. 2,50,000.
STOI BOrt Je. 50 TR), 0T LIOTWT,

B3 B7EZ00T VY TR SROPLITITT);

1) B3e e Hoee B30 FET Y3,

2) 200000 Cc30R30NPTRN 23923 250000 C3REINITIN TR0 Se3Teess w08,

3) 200000 OﬁJJZD&Jﬁ@?CT%ﬁ 533_’.}250000 m&mﬁ@@oﬁ FCRF 30T DRTeRI 53&33.




